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This resource contains 25 puzzles, with their solutions. You could use these
puzzles as a starter activity or at the end of a task as an extension activity.
Logical deduction is required in each puzzle to find the next number to write
in the grid. No guessing is necessary! Here is a summary of the rules for the

puzzles.

The grid must be filled using the
numbers from 1 to 9.

Each number must appear
once, and once only, in each
row, column or 3x3 square.

The grid must be filled using the
numbers from 1 to 5.

Each number must appear once,
and once only, in each row or
column.

Any inequalities in the grid must be
satisfied.
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The grid must be filled using the
numbers from 1 to 9.

The total for each row must be
equal fo the number shown to the
left of the row.

The total for each column must be
equal fo the number shown above
the column.

Each number must appear once,
and once only, in each row or
column.
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Killer Sudoku

The usual rules of Sudoku must be
satisfied.

The total of the numbers in any
shaded region of the grid must be
equal fo the number shown in that

articular region. i
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Puzzles 1
Sudoku Kakuro
9 8 1 513
292 7 2\] 12\
4 5 96 \is 7 |
11 N\] 13\
5 11234 N 5
8 il 511 2 _
N1 8
419 ]| 3 817 < 1
112 3 11| 5
3 2|6 |8 1 _
6 1 317 4 b
Futoshiki Killer Sudoku
1 < <
5
5 - 2
4 <
\
2 5 >
Calculate
EASY 11 +4 x2 -10 +5 -2 x3
MEDIUM 33 +11 +7 x5 +2 +4 -5
HARD 75 +3 +7 +8 V() | %6 +9
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Puzzles 2
Sudoku Kakuro
1 6 23
6 3]2 1 5 4
19 14\
> \us 3
9
14 6
3 7 15\
2 5 \30
9|4 \y6 7
Futoshiki Killer Sudoku
5
N
1< <
5 > 2 |<
AN N
A
3 5
Calculate
EASY 8 X2 -5 x3 -1 X2 +3
MEDIUM 54 +2 +8 +7 x? -4 +7
HARD 400 V[ +22 +3 x5 +2 +9




eduqos

Part of WJEC

-

eyl |
Puzzles 3
Sudoku Kakuro
712109 S %
4 2 6 718 — I N] 15
311 8 30 ™\ 16
18
16 7
- T
24 9
A\

Futoshiki Killer Sudoku
3 2 |> 4
A
A
2
1%
1 3 |< <
A
2
Calculate
EASY 9 +11 +2 -7 x9 +3 +3
MEDIUM 5 -11 X2 +15 x6 x2 +18
HARD 8 3 | x12 +8 x3 +6 )
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Puzzles 4
Sudoku Kakuro
7168 5 :
5 16
41591371 : T
Nt p)
3 6 4 L 2
6|2 91 3 22 8 "
7 8|53 6 _ . L
16 B GE!
8 6 9 s 12°
5 8 7 7 8
5192 8
916 1
Futoshiki Killer Sudoku
3 I<L
\Y A
< 4
4 2 1>
1
<| 2 5 <
Calculate
EASY 15 +7 +2 -8 x4 +3 +2
MEDIUM 7.5 +4.5 x3 +1 +2 -2.5 +8
HARD 20 ) +5 +9 +8 x2 x2
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Puzzles 5
Sudoku Kakuro
312 -
4 713 8 6 FERNEEEA
9 5|7 8|4 3
3 1|6 30
6l712]5 — : =
9 \20 ;15_5 3
5 27
51 6 2|8 =
16 9
6 2 5 :
Futoshiki Killer Sudoku
4 3 9
v 8
s < n
11
v ]
< 4
A N
A v -
4 3
Calculate
EASY 33 —6 +3 +1 x4 +8 -3
MEDIUM 145 +15 +16 +5 P x3 +8
HARD 256 ) +16 () x5 +12 -9
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Puzzles 6
Sudoku Kakuro
8|6 1 7 |
4 312 6|5 17N\ 29\
7 gl2|4]|3 N | \26
14N 19\ -
3/2(4]s8 519 2 .
3 7 - . .
6 2 N o
1 \20 7
17
Futoshiki Killer Sudoku
5 3
A
2 > 1
> >
> 1 4 | > >
A
>| 3 5 1|>
Calculate
EASY 9 +8 =11 x4 +2 +9 -1
MEDIUM 19 x3 +8 +5 - x7 +7

HARD 29 x5 +5 +5 -5 N() +5
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Puzzles 7
Sudoku Kakuro
2 114 9 [
3 8 |l N\
4 5193 1 NI 3
6 25
8 7 2 ® s
5|93 4 ' L
1 4 16N\
1 \& 7
216 1|8
15
3] 3 7 L '
Futoshiki Killer Sudoku
4 <
A
5
A A A
2 < >
5 >
2
Calculate
EASY 2 +5 x9 +7 +7 -3 x2
MEDIUM 8 X2 +2 x3 +4 V() -12
HAED 5 P -35 +9 X3 x3 -256
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Puzzles 8
Sudoku Kakuro
1 9 5
3 4 6 7 walla s
5|9 4 8 \4
e 6N\ o
3 3 2
‘ 16
N2 1
117|5]2 9
16
815 1 3
Futoshiki Killer Sudoku
5 > <
A \
1 2
4
A
<| 4 3
Calculate
EASY 14 +22 =2 -12 x6 +6 +2
MEDIUM 125 +67 -26 +78 =57 +73 x2
HARD 7 = 1/5 +5 +8 +5 =] x?
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Puzzles 9
Sudoku Kakuro
gl 1]2]3 506
9 8 3 [EESNE
3 71641 N
16\ 24
3 7 6|2 % > 7 |
6|9 4l1|8|2]5|3]|7 — _‘ 7
8 3 N B
9 6 28 7
2 34 6 1 |
B
5 6 713192
Futoshiki Killer Sudoku
5 2
3 4
Vv Vv
5
A
5 2 1
A
4 > 3
Calculate
EASY 0 +9 x4 x2 +9 =9 +1
MEDIUM 0 -3 -5 +14 9 2 +1
HARD 0 X2 2 X2 ] X2 X2
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Puzzles 10
Sudoku Kakuro
8 3 9 3
6|8 3 A
5 1 8 X4 S
9 11354 716 -:m 5
2| 4 8 e 519 - S
3 8 3 B
7 N 5
7 9 6|5 1 N
17
417 2 "
Futoshiki Killer Sudoku
3 |<
\Y
3 1
A
4 1
1 > >
5
Calculate
EASY 1.5 +0.5 x3 -1.5 x2 +3 2.5
MEDIUM 54 x3 -2 +16 x8 +5 x2
HARD 117 x4 +32 +5 V[ -20 x3
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Puzzles 11
Sudoku Kakuro
5 7| 2 4
2 1 3 S 13 10
3|6 N | N\
12\ 21\
1 17 4 e
6 =
3 A\I7 8 312 4
5 N1t
41 8 '
s
1 - |
Futoshiki Killer Sudoku
31> 4
A A
3
\V4
5 3 < 2
vV
5
A A A
4 >
Calculate
EASY 15 x2 +8 -12 +2 -7 x2
MEDIUM 63 =9 x4 +24 +2 +23 ()
HARD 205 +5 ~19 XA\2 +4 () | +4
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Puzzles 12
Sudoku Kakuro
8 4
6 382 EECRNEED
N8 :
30 \ 3
> N2
11 .
9 s
4 . i 4
N 8
Z .
Futoshiki Killer Sudoku
3
3
V
1 2
1
vV
4
Calculate
EASY 5 +2 x3 -5 +2 +2
MEDIUM 124 +2 +15 x8 +78 +10
HARD 900 \/( +10 +80 +4 x3
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Puzzles 13
Sudoku Kakuro
2 1 6|3 ™~
1 8 | 4 7 0N 9
7 N0 R
> 23
! \10
8 11\
4 10 4
S \
17
3|2 3
Futoshiki Killer Sudoku
>l 4 < <
vV
4 2
A
<
vV
>l 2
1 < <
Calculate
EASY 7 +4 x2 +8 +6 -4 x ]
MEDIUM 56 +8 x5 +15 +2 -60 +7
HARD 14 XN\2 +4 +10 X2 -83 x2
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Puzzles 14
Sudoku Kakuro
1 2183|517 N
4 9|2 8 N\] 20\
14 | 10 X\
N8 2 [N
9
2 N2 8
6 =
\J12
Futoshiki Killer Sudoku
<l 4 2
2 4
V] A
5 4 1 2 3
A \Y;
4
4 < >
Calculate
EASY 0 x3 +3 x3 +3 x3 +3
MEDIUM 24 x1/2 +3 x1/3 +3 x4 +3
HARD 24 x2/3 +4 %3/ +5 x4 /5 +6
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Puzzles 15
Sudoku Kakuro
N
14\
5 - %
1N 27

8 s 2 N

5 e

4 12 1

6 AND 7

E \16
Futoshiki Killer Sudoku
2 3
4 |<
1 >
A

4 <
EASY 17 -3 X2 +8 +3 +5 2
MEDIUM 51 +=3 +27 +4 -3 X2 +8 72
HARD 8 x3 +2 +2 +2 +2 +2 16
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Puzzles 16
Sudoku Kakuro
1 iA
5|4 17\] 13
6 N\ :
_ 25 7
8 : N30 8
7 3 N
4 3 10
10
45 \10
' \14
2|3
Futoshiki Killer Sudoku
2 1
> 1
5 3 4
A
3 1
vV vV vV
1 3 I<L
Calculate
EASY 12 +5 x2 -8 +6 +8 +7
MEDIUM 25 x5 -5 +6 -24 =2 +2

HARD 64 NC) [ x4 ) [+2 X3
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Puzzles 17
Sudoku Kakuro
7 91 6|8 3
5 116 24 17
5 5 S
13 15
811 &5 2
| 3 < 14\
16 16
5 ™~ . 1
9 12
NJt| 8
. _
Futoshiki Killer Sudoku
S 4
vV A
4 3
A A
1 3
vV
2 >
A A
4 >
Calculate
EASY 1.4 +0.5 x2 -0.8 +2 +0.2 X2
MEDIUM 46 x3 +2 +3 +18 +15 x4

HARD Y2 + % x2 — % x2 —- % x2
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Puzzles 18
Sudoku Kakuro
4 |7
3 12 11
5 14
14 11
7
17
13
16 7 2
16
1 14
6
11
9| 2
Futoshiki Killer Sudoku
> 4
2
4 1>
>
A
1 < <
EASY 65 -5 +5 +5 x5 +5 x5
MEDIUM 65 =11 +9 X2 x2 +24 x3
HARD 65 x4 —4 +32 —-14 x4 +5
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Puzzles 19
Sudoku Kakuro
7135 8 )
8 ale 7 b
: e
3 5 \ 15 2
16 N\
7 194 - '
\12 9
4 6] 8 17 N
5 71 27| 4
9 6 5 \
\17

Futoshiki Killer Sudoku
>
4 1 |<
<
5 < <

EASY 65 -5 +5 +5 x5 +5 x5
MEDIUM 65 -11 +9 X2 x2 +24 x3
HARD 65 x4 -4 +32 -14 x4 +5
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Puzzles 20
Sudoku Kakuro
1 4 5
718 3|5 18\ 12
6 8 17
' PR
2 / N4 3
SLE
37 1“ | 1416
5 13 N1t
7 -
17 <]
9 b
Futoshiki Killer Sudoku
<|] 3 |<L <
A
3
vV
3
A A
1 2
4 > 1
Calculate
EASY 1 +2 x3 -4 x5 +6 -7
MEDIUM 1 -2 x3 +4 x5 -6 -7
HARD 1 x2 x3 x4 x5 x6 x7
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Puzzles 21
Sudoku Kakuro
a 5 9|3 S _
1 8|5 6 N\ 2
5 o1 2 | 6 N o
: =i 14 °
6 / J6 1
8 719 4 2 — 2N
vi 215 |3 G 12 - i
2 8 1 \30
519 o
N
1 2 4 &
Futoshiki Killer Sudoku
1 1L 4
vV A
>
2
vV
1 5 <
Calculate
EASY 9 -3 +5 +6 x3 -9
MEDIUM 54 +2 +3 x4 +3 +2 x|
HARD 450 +9 +6 +14 xN\3 +2 —46
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Puzzles 22
Sudoku Kakuro
7 o
1 5 16 34 | 17
3 NG N
18\
3 34 6 | 7 9
2 .
20 :
L 16N 12\
2 :._25_ 3
6|1 ~
N\J1o \J10
s : 5
Futoshiki Killer Sudoku
< <
\% \V4 A
A
A A
< >
Calculate
EASY 19 +12 -5 +2 x3 +1 x10
MEDIUM 400 x20 +500 -20 X—2 xX—2 X—2

HARD 32 x5 +9 () x6 +2 x3
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Puzzles 23
Sudoku Kakuro
519 8 2
7 4 6 15X
1 \16 N
17N 14>
5 28
3 f 17 413
83 \2 1
2
3
4 | 7 )
Futoshiki Killer Sudoku
5 3
A
1
vV
1
vV A
4
A
3> 4
EASY 24 -6 +6 x2 +4 +6
MEDIUM 48 +8 +9 X2 -25 +8 +5
HARD 96 +12 +1 x3 +1 =10 x3




eduqa

Part of WJEC f

Josinail |

Puzzles 24
Sudoku Kakuro
5 2]s8 3 T
3 915 1 | | 1N uN
8|9 N3 : |
: 16N 13
6 '...-25.
A 8 N .
1|6
Futoshiki Killer Sudoku
1 2 4
7 18 |13
vV Y H | BEEAE
g N
a
4 |I< 1 3
Calculate
EASY 24 +6 x3 -4 X2 +15 x2
MEDIUM 2000 +20 N ) [x3 +15 X3 X2

HARD 12345 +5 +3 +5 +9 +2 +2
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Puzzles 25
Sudoku Kakuro
5 811 4 | 2
i 7 16 21
13
10 30
8 16
17
2 16 ) 17
7 24
11
6
Futoshiki Killer Sudoku
1 <| 3
A
3
a
vV AN
1<
vV
2 <| 4
Calculate
EASY 17 +15 +7 +1 +2 x5
MEDIUM 120 +24 -9 X2 x2 +8 -4
HARD 81 N +3 X3 ~19 SN ) | x
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Puzzles - blank templates

Sudoku Kakuro

Futoshiki Killer Sudoku

Calculate

EASY

MEDIUM

HARD
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Kakuro

Sudoku

14

16

1

5

114|153

213146

5

4

6

1

7

3168 |75

8

5131724

9

219|716 |3 |8

1

a

1

9

5161341912 |8|7

a

91287

1

413171528196

/7 19]5]8

8| 6|3]4

3|17]12]6

Killer Sudoku

Futoshiki

2

3

3 (<] 4 |<]| 5

1

Calculate

.I
© ) ~N
™ Vo) o~
X | i
N < ~O
_ o X
7o) o~ —_
1 + -
©l [v]| o
_ X i
o~ N~ N~
X + +
< — ™
+ iR I
— ™ 7o)
— ™ N
=
= (@)
Sl ol [
<C Z <
L] = T




PUZZLES (answers)

cbac
wjec

feynoaly

Puzzles 2
Sudoku Kakuro
718|159 |6)4|2]3
6lo9|30l2lal1]l8]|7]5 28
4|5 2078|386 |1]|9 7 N
19 14\
5124 6701381 N6 1 4 3
81119 214)71|5]|6 -
14
316 |7 5882|914 2 & 9
213|547 |9)1|6]|38 30 7 9
17|86 |3|5]9/|4]2 =
N6 9
9|4 |6)8|1|25|3]|7 |
Futoshiki Killer Sudoku
2 5 4 1 3
A
4 |>] 2 1< 3 |1<| 5
si>1 31> 2 1<| 4 1
A A A
1|<]| 4 3 5 2
A
3 1 5 2 4
Calculate
EASY 8 X2 -5 x3 -1 X2 +3 71
MEDIUM 54 +2 +8 +7 x2 -4 +7 3
HARD 400 V() +22 +3 x5 +2 +9 8
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Puzzles 3
Sudoku Kakuro
slel1l7l2]olals]|3 \
4lol2l3|6|s5)1|7]2 R
71311486 |2]09 il 3 3
30 16
1|lalolsle|lz2l2|6]|7 2 6 3 : 3
2137 el1]|lelslals _
6|s|8l2|7|4]3|9]|1 B 0 T 2|
71814 \2| 6 a 1 | g
51116 .
9|32 I Ny 92 | 8
Futoshiki Killer Sudoku
3 2 |>] 1 5 4
A
2 5 3 4 1
A
4 s 1 5 3 2
v
1 3 |<]| a 2 |<| 5
A
5 4 2 1 3
Calculate
EASY 9 +11 = _7 x9 +3 =3 10
MEDIUM 5 11 x2 +15 6 x2 =18 2

HARD 8 34/ ( ) x12 +8 x3 -6 \/( ) 4
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Kakuro

Sudoku

7

7

5

6128

1

7018 |3

1

61814 |79

3

317

618|519 |4

1

5

1

2

4

21419

9

6

819|617

Killer Sudoku

Futoshiki

<

<

Calculate
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Kakuro

Sudoku

| 1

2

1

5918459

4169

189 |6

2

3

91 67|28

1

817214 |3]|5

815

1

31617

7

9

41 5|7]3

1

2

Killer Sudoku

Futoshiki

Calculate
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PUZZLES (answers)

Puzzles 6
Sudoku Kakuro

2186534197

4|9 |3§2|7|1016|5]|8 17N\ 20N

715|119 |6|802|4]3 o 9 7

312|418 |1|509|7]|6 SRE . " s P\

ole|s]3|a|7]s8|2]1 _ : E0

g8|1|7]6|9|2]5|3]|4 R 0| 1 c | 1

6|7|2011|5|304|8]°9 20| 2 g, 3 3

1/3|8lal2/9)7|6]!s5 I

N1 O 8
54|97 |8|63|1]2 -
Futoshiki Killer Sudoku

1 4 5 2 3

A

2 5 |>] 3 1 4

31>l 21> 1 4 5

5 |>] 1 4 1> 3 |>] 2

\Y
4 1>] 3 2 5 >] 1
Calculate

EASY 9 +8 -11 x4 +2 +9 -1 20
MEDIUM 19 x3 +8 +5 7 x7 +7 49
HARD 29 x5 +5 +5 -5 V[ +5 1
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Kakuro

Sudoku

14
16 N

.29

7
2

1447 |6

1|57 |8|4

8|46 |3

2

2

1

9

615|938 |4

2

2

918913

4

1

91 5|7

5
7

Killer Sudoku

Futoshiki

S u

3IL<| 5|>] 4

2

Calculate

4

1

2744

x2

-12

-256

V(

x3

+4

+7

x3

x9

-35

+5

2

8

5

EASY

MEDIUM

HAED
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Puzzles 8
Sudoku Kakuro
sl1|l7l9l2|503|6]4 |
3l2lal1l8ls6ls5|7]9 N 3N
s|lolel7|4|3]2]|8]|1 e 3 | 1 [
- 6\ o
al3]2ls|7/9ls6|1!5 - I
7l8l1le|s5 |2 9lals3 102
6|ls5lol3|1]als|2]7 N 1 2 g 2 | 1
2163lalol7l1|5]8 Nl 9 | 1| 7| 8
117|s)213/8la|ols —
N\a6| 9 | 7
olalsls|e|1l7]|3]2
Futoshiki Killer Sudoku
5 al>] 2 |<| 3 1
A V A
3 5 1 4 2
4 1 3 2 5
A A A
1 2 |<| 4 5 3
2 3 5 1 4
Calculate
EASY 14 122 =2 212 <6 +6 ) 21
MEDIUM 125 167 226 +78 57 +73 x2 520

HARD 7 +1/5 +5 +8 =5 =] x? 1
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Kakuro

Sudoku

17

24

25 N\

Ny
16

2

9

1

1

97 |5|6

8

614

3

1

5

2

2

914|786

1

419|568

1

5

713

3

618|739 |2)|4

3

2

1

418

71619]5

619 |4

914 |8]6

Killer Sudoku

Futoshiki

Calculate

0

1

81

|

+

+1

XN\2

+9

X2

+14

x4

+9

0

0

0

EASY

MEDIUM

HARD
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Puzzles 10
Sudoku Kakuro
4|6 |8|5]2|387|9]|1
1/7]2]6|s8|9)4|3]|5 EEAN IR AN
5(9|311|4|7]6]|8]|2 a3 1 [
26
9(8|1]13|5|42|7]|6 10 2 3 a
21a|l7ls|1]6l3|5]|9 2
13 N17 9
3(5|619|7 201148 ° 10\ 8
4 6 B 1 2 5 3
2 1
37| 8 9
7 2 :
Futoshiki Killer Sudoku
51> 3 |<]| 4 1 2
\Y%
3 4 2 5 1
A
4 1 3 2 5
1 2 51> 4 |>] 3
2 5 1 3 4
Calculate
EASY 1.5 +0.5 x3 -1.5 X +3 2.5 9.5
MEDIUM 54 x3 -2 +16 x8 +5 x2 32
HARD 17 x4 +32 +5 v( 20 x3 -30
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Puzzles 11
Sudoku Kakuro
9|5 |8l3|7]|206|1]a4 _
2147015 |6)3|8]|9 L : 13\] 10
316104898275 o 2
12 21
711(5024|89|6]|3 e . 3 A i
s6l3lalol1lsls|2]7 - . B
glol2)7]el3)a|5|1 N ° | g 4| @
s|2(3)e|9|117]|4]s Nul 1| 2|3 |5
al8|9fls5|2|701]3]6 |
4| 3 1
1176083 |4)5]|9]2 |
Futoshiki Killer Sudoku
9 4 15 7 10 L:
1 5 3 || 2 a |4 1/619|5|7013|8
A A 513 2
12 14
3 4 2 1 5 3 9|5
12 7 8
Vv s5|lal3|9|6]2
5 3 1]<| 2 2 7 215
15 10 12 T 4
v 6 815 4|3
2 1 4 5 3 9 > |7 1% 3|1
1o 12
A A A 7 |6 1139
4 2 5 30> 1 5 -
Calculate
FASY 15 X2 +8 ~12 =2 7 X2 12
MEDIUM 63 =9 x4 +24 2 +23 NO) |7

HARD 205 =5 -19 XA2 4 N ) [+4 15
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Sudoku

X

30\

11 N

Killer Sudoku

Futoshiki

Calculate
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PUZZLES (answers)

Puzzles 13
Sudoku Kakuro
IERNE

10| 3 7 0
) 23 5

N0 1 | 2 | 3 | 4

10| 1 2 3 4

N\i7| 8 9

Futoshiki
51> 4 1 1<] 2 |<] 3
vV
4 1 3 5 2
A
2 3 |<L| 5 4 1
vV vV
31> 2 4 1 5
A
1 5 2 1<l 3 | 4
Calculate
EASY 7 +4 x2 +8 +6 -4 x ] 1
MEDIUM 56 +8 x5 +15 +2 -60 +7 -28
HARD 14 XN\2 +4 +10 X2 -83 x2 634
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Puzzles 14
Sudoku Kakuro
16|28 |3|5]7|9|4 N
413 |507|9|21s8|6]1 8 \| 2
g|s|701|6|al5|3]2 P 2 1
: 14| 10
748 1]e 2 - -
3|29 6l1]s BEEE KB
21713 9 21 3 1 8 9
6|51 7
22| 4 8
8194 3
Futoshiki Killer Sudoku
1 |<]| 5 3 |<| 4
3 2 5 1
Vv A
5 4 1 2
A
2 3 4 5
4 |>]1 2 |<| 3
EASY 0 x3 +3 x3 +3 x3 +3 39
MEDIUM 24 x1/2 +3 x1/3 +3 X1/ +3 5

HARD 24 x2/3 +4 x4 +5 x4/5 +6 22
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PUZZLES (answers)

Puzzles 15
Sudoku Kakuro

36|57 |1)4a)2]8]|>

2|8 |1le|s5|9)7|3]|4 14

9|7 (4)3|8|2]s6|5]|1 50 8 |

16 N\ 7

gl1(3])5|2|6)o|4a|7 | 7 | 2 s N\

512|694 |7)8|1]3 _ 1

al9|7]1|3|8]5|6]2 b ° | 3 3 8

6|4|ofs|7|1]32]|5 19| 1 T

1s5|8f2l9|3a|7]s —RC

N6 E
7132465198 .
Futoshiki Killer Sudoku

2 5 3 1

3 4 < s 2

5 1>] 2 1 4 >

1 3 4 <] 5

4 1[<| 2 3
EASY 17 +14 -3 x2 8 +3 +5 2
MEDIUM |51 =3 +27 4 -3 X +8 72
HARD 8 X3 +2 2 =2 +2 +2 16
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PUZZLES (answers)

Puzzles 16
Sudoku Kakuro
1/7/8le|5|302|9]a
s|a4/9l1|2|7]3|28]|s | 17N\ 13\
6|l 2094|8517 e 1 6 '7‘
glolals| 76123 @ o " .
7121503810649 Sl "
6l1l13l2/9lals|7]s ~ 3 . 1
4 718 |3 9|61 N0 4 | 1
9 117 6|ls5ba|3]2 ST
\24| 9
213 |6lal1l9)7|5]|s8 \ ]
Futoshiki Killer Sudoku
2 4 5 1 3
4 1s] 3 1 2 5
1 5 2 3 4
A
3 2 a 5 1
Vv Vv Vv
5 1 3 |<] 4 2
Calculate
EASY 12 +5 x2 8 +6 =8 +7 1
MEDIUM 25 x5 5 =6 24 2 +2 10
HARD 64 NC) e x4 N +2 X3 1000
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Puzzles 17
Sudoku Kakuro
217112096 |88a|5]|3 |
3(8l4a)s5|2/11e6|9]|7 24\] 17\
9lelsl7lal3)1|2]s R s | o [ .
: 13 15
8l1/7013|5/219|4]|6 . 3 5 c
63|28 9|a]ls5|7]|1 —t .
als|ol1l/7]l6ls!|3]|2 B
5|93} |8 |72 |1) 4 43 5 2 4 y
114|823 |987|6]|5
\J1| 8 3
712164151389 N
Futoshiki Killer Sudoku
5 3 1 4 2
Y A
2 4 5 3 1
A A
1 5 4 2 3
vV
3 1 2 5 |>| 4
A A
4 2 3 > 1 5
Calculate
EASY 1.4 +0.5 x2 0.8 ) +0.2 x2 3.4
MEDIUM 46 x3 =2 +3 =18 +15 x4 76
HARD A + x2 ~ % x2 -3 x2 5%
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Puzzles 18
Sudoku Kakuro

\a4| 9 5 |
14 '\ 11

17| 4 3 1 9

13

6 9 7 | N8| 3 2

N4 4 | 1 | 7 | 2

11| 2 9
Futoshiki Killer Sudoku
31>11 4 5
2 5 3 4
4 1> 2 1 3
\Vj
5 3 21>11
A
1 4 |<| 5 2 1<
EASY 65 -5 +5 +5 x5 +5 x5 450
MEDIUM 65 -11 +9 X2 x2 +24 x3 27

HARD 65 x4 -4 +32 —14 x4 +5 -19
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PUZZLES (answers)

Puzzles 19
Sudoku Kakuro
216|735 | |
83|46 |1 15\
591438 N\ 7| 6
10\] 17\
: 16
7151819 } —
411|682 N 2 . 17 N ’
9lg|s|2]|7 \z7| 4 | 8 9
11al209]3 e
N7 8 9
6|7 |315 4 '
Futoshiki Killer Sudoku
S51>2141|>] 3 2
A
2 |>1 1 5 3
4 |>1 3 1< 5
vV
31>1 2 4 | < 1
1 5 2 |1< <] 4
Calculate
EASY 14 x2 +2 +2 -2 x2 +2 28
MEDIUM 14 x3 +3 +3 -3 x3 +3 39
HARD 14 x7 +7 =7 -/ x7 +7 63
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Puzzles 20

Kakuro

Sudoku

Fa B

12>

\16
14\

17

ANY

I 1 S

X 16

Killer Sudoku

Futoshiki

>l 1 |<|] 3 |<] 4 |<]| 5

2

Calculate

24

5040

x/

x6

+4

x4

+2

X2

1

1

1

EASY

MEDIUM

HARD
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PUZZLES (answers)

Puzzles 21
Sudoku Kakuro
6|8 (402 |5|7Q011)|9) 3 .
3l2|1)ela|9)7]|8]|5 6 \| 26\
5171901183142 |6 _ 2 |
: 24 14
943 6 5 7 5 1 | = | S
8|56 9 2 4 | a0
70112 3 9 8 e S g 2 | 1
21918 3 30 6 7 8 9
413 1|5 6 |
9 4 5
1617 8 ]
Futoshiki Killer Sudoku
3 1 |<] 2 5 il
vV A
2 4 |>] 3 1 5
4 | >1 2 5 3 1
vV
5 3 1 4 2
1 5 4 2 |<] 3
Calculate
EASY 9 X2 -3 +5 +6 x3 -9 18
MEDIUM 54 +2 +3 x4 +3 +2 x| 6
HARD 450 +9 +6 +14 XN\3 +2 —46 -14
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Puzzles 22

Kakuro

Sudoku

17

12°

! 14
. 18>

N 10

20
16

N34

N0

2

9|7 |46 |8

Killer Sudoku

Futoshiki

Calculate

o N
o N -
< ™ -
o N
— | ™
X X X
M e
+ X -
ol |9 o
X X X
-~
o
N N
N I W
o
w| |8 |o
_ iR +
N (@)

— N 7o)
+ X X
o
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Puzzles 23

Kakuro

Sudoku

14

16
17

14 ™\

3

2
3

8

1

812]|6

5

415]|6

9134 |8 |71]6

5

914 |7

Killer Sudoku

Futoshiki

Calculate

219
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O L (99
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PUZZLES (answers) e
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Puzzles 24
Sudoku Kakuro
s|1/20sl6|70a|3]|9 | |
3|7 |4)2|9|5]6|8]1 | 15N 11N\
gl9lel1/4a 30725 = 1 2

16N\ 13>

\14| 7 4 1 2

N1t 3 8
Futoshiki Killer Sudoku
1 5 3 2 4
51> 3 1 4 2
V4 V4
3 2 4 5 1
V4 \VJ
4 1 2 3 5
2 4 |<] 5 1 3
Calculate
EASY 24 +6 x3 -4 x2 +15 X2 62
MEDIUM 2000 +20 \/( ) x3 +15 x3 X2 64

HARD 12345 +5 +3 +5 +9 +2 +2 23
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Puzzles 25

Kakuro

Sudoku

21\

30N

10 °

. S

A\t

5

Killer Sudoku

Futoshiki

Calculate

20

16

X4

3\/{

X2

-19

X2

+24

V(

17

120

81

EASY

MEDIUM

HARD




